Compound interest
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A money lender borrows money at 4% per
annum and pays the interest at the end of the
year. He lends it at§£% per annum,compound
interest compounded half yearly,and receives
the interest at the e e year. In this way,
he gains Rs.104.5( ear. The amount of
money he borrows, is -
T gfer a¥ 4% W 4 3UR a1 ¥
3R af & 3ia # AT FT A FAT B
9% =¥ yRaY 6% # &X @ Iref-arfe
azﬁlaﬁr SO X IUR &am § HX a¥ &
3T F suTT WITd FIT &1 5H WE, IE T
T H 104.50 TGX AIH FAMT & €
foraen dar 3UR Aar §, 9 F41 82
a) 6000 b) 5500 \9)/5000 d) 4500
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A man borrows certain sum of money from
a private firm at rate of 5% S.l. per annum.
He lent(50% money|to second man at rate
of 10% C.I. per annum. In such a way man
gains by Rs.3205 after 4 years. Find how
much money man borrowed from private
firm. Ug. Ui/

TH EHAT o qrsde AT ¥ 5%
ATYROT sg1sT Yfaay W Ui 3UR ol
384 10% THdeid sgreT Ifaay I 59
TR T 509 fRt g e A 3R

1,00,000 b) 70,000
c) 90,000 d) 80,000




/@i’—ﬁz;%’/- A principal P becomes Qin 2 years when
P “dz £ 8 K Lompounded half yearly at R% per annum,
y =

&, L' K, RO K — ;

'_&,. 2 } 2 i 2 2 and the same principal P becomes Q in 2 years
when compound annually at $% per annum,

FL <y ' Sv. |0) then which of the following is true?
! ! r UH FAUSA P, R% ¥ida¥ & & 3refariis
N—" T ¥ S GG @Y W, 2 9§ A @ @
192 arer 8, 3R A HEwa P, s% vfaay
gy — 107 R ¥ AfF T ¥ T FARAT @ W 2
2L, Gt braxh adt # o o o ¥, A Fre A @ et am

(oD a7 872

a)R>S b)R=S \;i{R<S dR<S
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The interest (in X) to be paid on a sum of

30000 at 15% p.a. after 2% years, if
interest compounded yearly, is:

330000 FHT A W 15% aN¥e &I
#2— a¥ ¥ spIraTeT fRaT SR arer
W‘q’ﬁrm(iﬁ)maﬂl

a) 14362 50 b) 12364.50

c) 16342.50 13642.50
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What is the compound interest (in Rs) on

IS/ |57 67/ a sum of Rs 46,000 for ZEyears at 15%
\-/ per annum, interest being compounded

22.2%7 annually (nearest to a Rs) ?
SATST T IA0TAT qIf¥ ThIGfar 3MUR
39 29 W 15% aiff® sarer & &F

1250 g¢

| .93 ¥ T 46,000 F A W 223§ F rea
R THIGA ;TS (% #) W W

M0 e g e U

/\;/
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'f\/- If a sum increases by 21% after 2 years, then
the rate of compound interest per annum,
when compounded annually, must be:

2R+ RE afg #E U F 2 aF I 21% H FEW
T & - K At &, @ s N U afE w9 Q@
fFr 99 W aif¥s Twqefer sarer i X

6D
‘)J'OL\/S'O« IS % AT HY
o1 a)10.5% b) 11.5%
R +200R=2jop=q 10% d) 11%

-20X -ZI@ lo
'07. °
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A man invested Rs. 8000 in a scheme for 3
years at compound interest. The rate of
interest of first two years is X% and that for
the last year is 20%. If the interest received
by him after 3 years is Rs. 4696, then find the
rate of interest for the first 2 years?

Waaﬁr-rwmamﬁsoooasa\?a:

*ﬁﬂ? % & | afr 3 wret 9 ufEa
aammrcrm%%%aﬁqsﬁzmsﬁ

fh ax AT FA |
a)10%  b)12% \/15% d) 16%
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Rs.16,820 is divided between two brothers
of age 27 years and 25 years. They invested
their money a( 5% Jer annum compound
interest in such a way that both will receive
equal money at the age of 40 years. The
share of elder brother is:
16,820 ¥ 27 A 3R 25 @ HA
3 F & sl & fiT T U] IR
5% Wfday THafer sarer W9 S
HT [A3T 59 WRe  fFar &F Q=+
40 O T 37 H R o7 A 73
TS &1 feear A g fifa:
a), 8280 b) 8410

8820 d) 8000
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A sum of Rs.25220 is divided into three parts
9\ and lent out for 2 years, 3 years and 4 years
A x/Z EX(Z) =CX 2 respectively. If the rate of compound interest
be 5% and the amount of each part become
gln;fter the completion of time in each
case. Find the divided parts of the sum.

C Rs.25220 & il oW & dler S §

£>
é?kw

3

4

:

3

2

4

f

a) 8800, 8400, 8000
b) 8683,8000,8400

8820,8400,8000
d) 8783,8000,7000
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A man invested a sum of money in scheme A at a
rate 15% p.a for simple interest. At the end of 2
years the amount received by him is invested in
scheme B at 20% p.a for compound interest. If the
interest received by him from scheme B at the end

of 2 years is Rs. 2860, then find the sum invested
by man in the beginning?

TF Ifdd o AT A # YR AT T
15% 9fd a¥ &Y g7 ¥ g &1 @3y Far 2
a¥ & 3T A 39F @RI UIed AR F THae o
m#ﬁtrm%ﬁa#@ra'{#mamsﬁr
foraer fFar T IfY 2 9§ F 39T F S B
¥ UIST SATS Rs.2860 8, av I H e
earT fader A 7§ AR A Hifew?

a) 60,00 b) 65,00

c) 72,00 \9/50,00
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What will be the compound interest on a
sum of Rs.1875 after 2 years if the rate of
interest for the first years is 4% and that for
the seconda\gzar is 8:?7:1[\"} -

75 & Th T I 2 | T
Bt God %me.ﬂﬁqﬁﬁ
O &% auT gAY a¥ 8% T A¥F & &

Rs.231 b) Rs.341

So | c) Rs.241 d) None of these
® ¢
W\




A 2 — vyear certificate of deposit is
purchased for k rupees. If the certificate
earns interest at an.annual rate of 6 percent,

_, compounded which of the

following represents the value, in rupees, of
the certificate at the end of the 2 years?<¢ei7
TH AT TATOT 97 K TqF H @lier 14|
NN 98 YT T 6% dedr & 3R
faed arorenm @ B @Y 2 ¥ @€ 39
STHT YATOT 99 61 AT F4T grei?

a) (1.06)%k b) (1.06)3k

) (1.015)2k 4 (1.015)8k
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Mr. Duggal invested Rs.20, 000 with rate of
interest @ 20% p.a. The interest was
compounded half yearly for the first one
vear and in the next year it was
compounded yearly. What will be the total
interest earned at the end of two years?

MATT grared & 20% i 9§ Fr T @
20000 w9¥ faaer fFd| 9gd @ &
T =g+ Y Turar e w0 @ =
afed g W & T aiffs & I ar
2 Tl d1¢ fohdeTT saTer g1em?

a) Rs.8,800 9,040

c) Rs.8, 040 d) 9,800
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If the compound interest earned on a certain
sum for 2 years is twice that of simple interest
for 2 years, then the rate of interest per
annum is percent.

I 2 a¥f & fav v PAfRET I W
yfotd dFgeiy <arer 2 9t & fav
FTUROT sqTeT $7 AR & a9reT &, ar oy
Iy U #Y & afdera 2]

af200%  b) 2% c) 4% d) 400%




A certain sum was deposited in a bank for_2 years at
the rate of 10% compounded annually. From the
amount earned, Rs. 6150 is withdrawn after 2 years
and the remaining amount is left for the third year for

the same rate. The compound interest for the third
year is 8421 times of the first two year. What was the
sum deposited in the bank initially?

ar a¥ #1 8/21 I 3| d8F H AT ¥ ¥ e
Tfer sAT fY 7 A2

a) Rs.16000 Rs.15000

c) Rs. 18000 d) Rs. 13750
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Ravi invested an amount at the rate of 27% per
annum compound interest compounded semi-
annually for 1 year and Rakesh invested the
same amount for 2 years at 3% per annum
simple interest. If the ratio of i?\?erest earned is
23:60, then what is the value of ‘r'?
Wa2zry satfregr a1 av & v
e-aifisd THaefr sarer it T @ A
Rrar 3 T & 2 adt & AT 309 iy
Y WYURYT SO W A AT &1 fAder
fran| afe afSta sarer &1 3T 23:60
T ar v T AW F R

a)10 b) 20 w)/30 d) 25
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Rs.1800 is given at 20% per annum SI while

' ) _ Rs. (1800 — P) is given at 30% per annum CI.

69/ (."?,DO"'D ) - ‘40/' I?O'D-%IS_ If the difference between both interest at the
end of two years is Rs.315. Find P.

Rs. 1800, 20% Wfaa¥ &1 T & HIYRT

X8 -6a7 P = 2)S gl W RY I & Rs. (1800 —

2 P)30% wfda¥ whaefd sarer W Y 1
| 6o —6a~ p Iy @ I F Tg AWl sur FOHW
A Rs.315 & al £ &T AT AT AT
52,9 il a) 350 300 ¢)400  d)325

_3, S~ )Z 3‘0’/-\/30'/-
69




Tree method:
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The difference between C.l_ of third year
and the simple interest of second year, on
a sum at 12.5% -gl per annum
(compounded yearly), is Rs.850. Find the
compound interest of second year.

ey et . 12.5% wfd af fr R
q (@ & F Fgd), R av &
TR e AR @ a¥ & AUROr
AT FT HaX 850 %o g| af gaY a¥
T THIY AT FJT FM?
a) Rs.3200 Rs.3600
c) Rs.3680 d) Rs.3240
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The difference between C.I. in two years and C.I.

P 1 of first year is Rs. 36. The rate of interest for first

6'5 @ 7 and second vyear is 14. 28%_1 and_/11. 11%
| /> g respectively. Then find the princiZaI. 9

ar aff F Twagf surer AR wEA ¥
amﬁr-znsra;rmsﬂ gl dgar 3R

a a;a%a&a:mma?rawmr 14.28%
26 x 6% _ g67 3R 11.11% @ & HAUT AT FI?
2 \ ' Rs.283.50 b) Rs.226.8
_ c) Rs.340.2 d) Rs.315
- &97,.5
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